1
OHr

Jt CDRE)

ol

- o
o m
=
o ®
gt
sy o
U o = = o
20 27 Uy ny
or = O A H

N}
2%

=
=
tet &2 0|

P
'

5
s

= ATEYN HEXL
&

leid Jl

[=]
=
=
=

SHEE

o ol ol ol

<k <R <k <+

I
oir

CDR
CH = of




N
1
i
£
Ho
&
4
]
o
(5
0C
I
AD

JICDR 2P+ &4

S ALY A2E A2 MHNIRC 2012 0l & AEHZANO 2I5HH 2013 S =W Oleld &g e
2= 2% 451224222 2012E HH| 10% IOl SO 0ISUHAM =St |0 2HE AH2 2 7%0(F
1,700 )22 =FE L

U2 J|IES 2uete S42 UFUA BFREQ 222 S 0IEotE 0ldldS 2Ect0 E38 2 bt
PO UCH AN B=SUELRAF(2012)2] 'e-2d HAS DEst H=2'0 G2 HEEE=E DSHE2 ST IHHE
S ICTY SEotes A= SEZ ot AUACHL 0l WFUEHO0| SastE F2 =5 012€0| 20 2EtE A 0I0H
#5010l Ol=SE= HL=2 AZE OS2 A= MSO0ILL ot WF0Icts S+=dUHE0 BXZ =4t
O 2240l MIIDLD A0 X =4tst =AIJHOI0TKILL JACH 2l Lich AFBUE S& +=5tu | 8212 =&
T2 ATEO0 Y M2It2 =2 202 =2 ==0 FIE210] 8l2H 20lad A AKXE 0] & 20k
Ol CHet AlAS 25 DX 1D = A0l 258 10| A0ICH

o
]

1. 0lcde DHEH =2 2004 2 E 2006E MK &= Atel=2 dFES JI=otH W2 d&6tCHH 20078 0l 10%
LelE d&otH AEANE KAt AUCH delUt HAHE B HE 7201 14H 8HURCE HAE ==0 =R

Ct. Oladd &t SAA == MUEHH|7.3% SIt8H 20t 5128F 0/} H &Ml 0l J1H2 43.3%It ISR ES
2 MO OlefY &Y QAR ESE2 4502 LIEILE MAFC M20ls 280 A X S 2250t
= A

Aggt =
2. 0| S0 &47%0t =St S 2HJAS A2 FTHI D ULHL ANZ 24 ATE/HS Y =22t s
SZ0| ZEEE=E 0lddd &0l A sHLLD AN &Y 10 CHet =2 & I SItotd UACH

4>
0
=
I




ASH) A St [ 2 &
2 uFi-S0lHY N | COR W =1H
Sk | S
G| o) [FHESD RUES) RSN ™= HHEE DS
0| X231 1(3/3) 0| X231 = 1(3/3)
TS EWS(3/3) £BIAL DS (2/2)
S8HAL DS (2/2)
1
1
st
HF2(3/3) H=2(3/3)
=i 0| X2t W K11(3/3) 0| & 2t K11(3/3)
A E45(3/3) A 245H(3/3)
2
1SOIEEZ8N3/3) S 4=5H1(3/3) 20K N(3/4)
SEU=+=511(3/3) Jloter e Bh(3/3)
01225 A1(3/3) EUIHZ0IZ(3/3)
J| 58t BH(3/3)
ZEHOHZ0IE(3/3)
1
2
s ZREHESES TS UF(3/3) ZREHESES TS UF(3/3) U2 E(3/3)
lejlo}o (3/3) SEU==SH1(3/3)
L H 41 5H(3/3) £ NN NI2(3/3)
= M<>1EHA0*||(3/3)
TS DAY (S8 WF)(1/1)
£ NN NI E(3/3)
2




Vo= pn =]
= _ =2 O | o B It
| o) [2ERs st EE) DS E
=1l 2EHUERA(3/3)
s S AL SE 11(3/3)
At = 113/3) Fla42t 1(3/3)
Fle==2t 1(3/3) SHEUSHI(3/3)
2HEUASTHI(3/3) =8t W TH R o (3/3)
SOHCH=3 1(3/3)
2SI D W TR o1 R (3/3)
1
3
= )
- 9| AH 4 BHI(3/3
SLESE(3/3) SEL=11(3/3)
€] 214 5H1(3/3) +8 W H=2| Y i==(3/3)
SHEUSH(3/3)
B OHCH2BHI(3/3)
St D=l Y E=E(3/3)
2
- Sl At 4Bt A 1(3/3)
ABA2(3/3) SHESH WY (3/3)
P&k =511 2= 8(3/3) S8t NS EEHEH|(3/3)
S S D4H(3/3) o
4+ NS SE AN (3/3)
1
4
St &
8| - Ch4-3t D48 (3/3)
CH4=3t 4 1(3/3) SEQ A DS =233
E £35S DS A(3/3) TE=
—
2




oir

ar
T

8l

9/10

0r
=l
RO
Ko

68/68

ol ™J




S )

Ol d &M =20t CDR At

St
=1

-2

O

imi

ol

<

ot X =
zz T =
OkaE D sl
SO <l Al k|
w| ®E W qu
M Pl ol ok or ol
TR X o
EEAD gy < for {0
oy 100 < 2 <t G+
Ur ) 3 R0
o UM = L o ml
7 O gy R 05
ROMDAL )7 0z
KIRI) o 00 s
IF0N30 o &M 2r ol
EEUGTRE Mo )
orilS <FE oA
i) )
00 uir
[m) <y
= %
ol zn S {0
al ulo =T
ol H MR
[0 ol il
a | ol 50
= | S Wos
S ~
= JIR
ok M
N =
< oo I
o 7 Mo H|
w7 =<
.@o 0l X0
R =iE
o St
EIR(S ior <k
gt = o
I El E






